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Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

2. Attempt all questions. 

3. All questions carry equal marks. 

4. Use of simple calculator is allowed. 

5. Show your working clearly. 

6. Answers may be written in Hindi or English but the same medium should be 
followed throughout the paper. 
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1. (a) "Management Accounting is the best tool for the management to achieve 
higher profits and efficient operations". Elucidate the statement. ( 1 0) 

(b) What do you understand by 'cost control' and 'cost reduction'? Which of 
the two is superior ? (5) 

OR 
(a) Examine the importance of relevant costs in decision making. Why the 

irrelevant cost be ignored ? (5) 
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1 Rs. 3,00,000 
2 3,45,000 
3 2,91,000 
4 3,33,000 
5 3,43,500 

Estimate the costs for 6 year if the activity level is expected to be 23,000 
hours. (10) 
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2. Vinak Ltd. produces an article by blending two raw materials. It operates a 
standard costing system and the following standards have been set for raw 
materials: 

Materials 
A 
B 

Standard mix 
40% 
60% 

The standard loss in processing is 15% 

Standard price per Kg. 
Rs. 4.00 
Rs. 3.00 

During April 2013 the company produced 1, 700 kg of finished output. The position 
of stocks and purchases for the month of April 2013 is as under : 

Material Stock on Stock on Purchase during April2013 
1.4.2013 30.4.13 

(Kg) (Kg) 
A .35 5 
B 40 50 

(Kg) 
800 

1,200 

Cost (Rs.) 
3,400 
3,000 
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Calculate the following variances : 
(i) Materials price variance 

(ii) Materials usage variance 
(iii) Materials yield variance 
(iv) Materials mix variance 

3 

(v) Material Usage (Revised) Variance 
(vi) Total materials cost variance 

OR 
(15) 

A company has a normal capacity of 125 machines working eight hours per day 
for twenty five days in a month. The fixed overheads are budgeted at Rs. three 
lakhs per month. 
The standard time required to manufacture one unit of product is twenty lillinutes. 
In August 2013 the company worked for twenty six days utilizing 1080 machine 
hours per day and produced 95000 units of output. The actual fixed overheads 
were Rs 2,95,000. You are required to calculate: 

(i) Total Fixed Overhead Cost Variance; 
(ii) Fixed Overhead Budget/Expenditure Variance; 

(iii) Fixed Overhead Volume Variance; 
(iv) Fixed Overhead Capacity Variance; 
(v) Fixed Overhead Efficiency Variance; 

(vi) Fixed Overhead Calendar Variance. ( 15) 
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3. XYZ Ltd. which produces three products furnishes you the following data for the 
year 2012. 

Products 
A B c 

Selling price per unit (Rs.) 100 75 50 

Profit/Volume ratio 10% 20% 40% 

Maximum sales potential (units) 40,000 25,000 10,000 

Raw material content as percentage of variable costs 50% 50% 50% 

The fixed expenses are estimated at Rs. 6,80,000. The company uses a single 
raw material in all the three products. Raw material is in short supply and the 
company has a quota for the supply of raw materials ofthe value ofRs. 18,00,000 
for the year for the manufacture of its products to meet its sales demand. 
You are required to (i) set a product mix which will give the maximum overall 
profit keeping the short supply of raw material in view, (ii) compute the maximum 
profit. (15) 

OR 

A company at present working at 90% capacity and producing 13,500 units per 
year. It operates a flexible budgetary control system. The following figures are 
obtained from its budget. 

Capacity Utilization 

Sales 

Fixed expenses 

Variable expenses 

Semi-Fixed Expenses 

Units manufactured 

90% 
Rs. 

15,00,000 

3,00,500 

1,45,000 

97,500 

13,500 

100% 
Rs. 

16,00,000 

3,00,600 

1,49,500 

1200AOO 

15,000 
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Labour and material cost per unit are constant under present conditions. Profit 
margin is 10% of sales at 90% capacity. 

(a) You are required to determine the differential cost of producing 1,500 units 
by increasing capacity to 100%. 

(b) What price would you recommend for export of these 1,500 units, 
taking into account that overseas prices are much lower than indigenous 
prices. (15) 
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4. The Beta Ltd. has prepared the following sales budget for the first five months 
of the financial year 2013-2014: 

Sales Budget 
Month Unit 
April 54000 
May 78000 
June 61000 
July 52000 

August 49000 

Inventory of finished goods at the end of every month is to be equal to 114th of 
sales estimate for the next month. On 1st April, 2013 there were 13500 units of 
the product on hand. There is no work in progress at the end of any month. 
Every unit of the product requires two types of materials in the following quantities : 

Material A- 5 Kg Material B - 6 Kg. 
Materials equal to 50% of the requirement of the next month's production are to 
be in hand at the end of every month. This requirement was adequately met on 
P' April, 2013. 

Prepare the following budgets for the first Quarter of the financial year 2013-14: 

(i) Quantitative production Budget; 

(ii) Material Purchase Budget (Quantitative) 

OR 

(15) 

The Profitability Statement of Gourmet Co. Ltd has been summarized as given below : 
Amount (Rs.) 

Sales 15,00,000 
Direct Materials 
Direct Wages 
Variable Overheads 
Fixed Overheads 
Profit 

4,50,000 
3,00,000 
1,20,000 
4,40,000 13,10,000 

1,90,000 

The budgeted capacity of the company is Rs. 20,00,000 but the key factor is 
sales demand. It is proposed that in order to utilize the existing capacity the 
selling price of the only product manufactured by the company should be reduced 
by 5%. 

You are required to prepare a forecast statement which should show the effect 
of the proposed reduction in selling price and include any changes in costs expected 
during the coming year. The following additional information is given : 

(i) Sales forecast Rs. 19,00,000 (after reduction) : 
(ii) Direct Materials prices are expected to increase by 2% 

(iii) Direct wage rates are expected to increase by 5% 
(iv) Variable overheads are expected to increase by 5% 
(v) Fixed overheads will increase by Rs. 20,000. (15) 

-aficr ma ~ ~ qq 2013-14 ~ ~ .qfq ~ ct ~ f.i'h1R>!Rqa ~-~ ~ 
fcfim~: 
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~ GNfC 

lU6 fi' 
"' 

3litR 54000 

~ 78000 

~ 61000 
"' 
~ 52000 

3{1ffif 49000 

~lU6~ aio~~~cfilft mlU6~~~ ~~ 1/4 ~~~~ 1 "' ~ 

1 ~ 2013 col~ cfiT 13500 fi' ~~~I lU6 ~ alo ~ ~ anlR CfiTf ~ 
"' "1tf (60T t I 

~ cfiT ~ <Wrc ~ ~ -m WfiR ~ ~ cfiT ;jtlq:t4Cfldl ~~an: ~ 6Tffi t : 
~A- 5fctm. -~ B-6fctm 

m ~ ~ \3~1~"1 ~ ~ auq:t4Cfldl ~ so% ~ ~ ~ ~ lU6 ~ aio ~ ~ ~ 
m ~ I ~ 61Jq:t4Cfldl cfiT -mf 1 ~ 2013 col Cfi<: ~ l'ff ~ I 

"' fctW:r ~ 2013-14 cfiT WFr ~ ~ ~ f.iJTtR!Rcta GNrC ~ ~: 

{i) 411::iii~Cfl -~ GNfC 

{ii) ~ ~ GNfC (411::iii~Cfl) 
3MCfT 

~ ~ RIPI2s CfiT ~ ~ ~ ~ CfiT fctcRur ~ ~ ~ t : 
~ (~.) 

~ 15,00,000 
~e-T ~ 4,50,000 
~e-T 41\Jl~f<lli 3,00,000 . "' 
-qftqffl \jqf<d:f4 1,20,000 
~ \jqf<d:f4 4,40,000 13,10,000 
WI 1,90,000 

~ cfiT ~ e-FffiT 20,00,000 ~- t ~ ~ CfiRCfl ~ cfiT ~ t I ~ t frfi ~ 
e-FffiT CfiT m ~·~~~em~~~~~~ col 5% Cfi1l Cfi( 

~~I 
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~~~: 
"' 

( i) 
{ii) 
(iii) 
{iv) 
{v) 

~ 't_cffj411"1 19,00,000 ~- (~ ~ ~ ~) 
~~~2%~~~1 
~~~ 5%G~G~tl . "' . 
-qftqffi 3qf{(£f4 5% ~~~I 
~ \jqf<d:f4 20,000 ~- ~ ~ I 

~~--
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5. Write short note on : 
(i) Master Budget 

(ii) Cost Management 

8 

(iii) Profit Centre and Investment Centre 

OR 

(3x5=15) 

(a) From the following details regarding production and working hours 
in a factory during a period of Four weeks calculate (a) Efficiency Ratio, 
(b) Activity Ratio, and (c) Capacity Ratio. 

Budgeted Production : 500 units 

Budgeted Hours : 4000 

Actual production : 460 units 

Actual Working Hours : 3200 

(b) The following is the cost information of a product : 
Variable manufacturing costs : Rs. 4 per unit 
Fixed manufacturing costs: Rs. 2,00,000 per year 

(6) 

The normal capacity is set at 2,00,000 units. There are no work-in-progress 
inventories. Last year the firm produced 2,00,000 units and sold 90% at a 
price of Rs. 7 per unit. In the current year, the firm produced 2,10,000 units 
and sold 2,15,000 units at the same price. Prepare income statements for 
both the years based on : 
(a) Absorption costing, and (b) Variable costing. (9) 
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